size:14.5x21cm

CEOOA Z[o

Kokoontaitettava

ty6penkki

Hopfallbar arbetsbank

KAYTTOOHJE /
BRUKSANVISNING

CcEe A 2O

Kokoontaitettava
ty6penkki

Hopfallbar arbetsbank

famfarce®

Q0s— 9 0O

1#9  J#10 M#13

famfarce®

© s0@

NO FIGURE DESCRIPTION QTy
A1 WORK- TOPS 2PCS
B#2 ‘@ SLIDE BASES 2PCS
c#3 M BOLTS M8 4PCS
D#4 CROSSBARS 2PCS
E#5 ﬁ LEG FRAMES 2PCS
F#6 PLASTIC FEET 4PCS
GH#7 WASHERS 28 8PCS
H#8 D WOOD SCREWS 16PCS
I#9 I — BOLTS M6 8PCS
J#10 ® NUTS M6 8PCS
K11 NUTS M8 4PCS
L#12 ? CHOCKS 4PCS
M#13 @ WASHERS 06 8PCS

N#14 SPANNER 1PC

[amfarce®

lamfarce®




